Linear Algebha  FPrimep
Lgzada_ Moo o, Soing it cpui
mm“x Mulhp)f(a)"o,,/ mafrix fhvw&/ 7‘%!,0059 /

HW . Pruihie  mafry mlhy))fmkow
= . leam how fv jnt/2 =« pmatk onlne

| Matix- Vestop  Notation|
T, 3 9md€ %) you studied M w hiv <3
e munipalihon  of  pubons  witn Sy
H3r=2
= X= 3
Tn Slsic we oHon use lineae olgebpn  whith

is the mﬁlhn‘?l/lmmv‘ of Syskems of @prafions
waltlin@tr fomns (€9, b o AR o)
/ a ‘)

X) - 7(71 1%

- X\2 09, Y2=0




But we wully uge P (befe) a5 onr
dymbals ' Stubsds

prepo=s
= fb)’f’O/ /37/'/0
Another way Fo  white o system, )
lineat,  egpions s in  mudin-vedor skm 3

So {p,+/zl =©

5 —p>=0

S eppivlont 14, [,, J][/;}\/; J

T

25, maiix 2K| vectols

A NWX s Q hXF 9)’)77{ ol Ml/lmlwﬂﬁ)
V) = hum, RDWS/ )9 ~ him oo/uth/
A COlV\W\V\ Wd\"k (s n V\X) I 0o’ [calm.,.n)l




(e HimeS i SIh, pe dlea) ith  huge
nep aticeS Wit jame n o omd p o s

Wwe S)‘mﬂ\g ) Yhe  mabix X)

Xn Xn"‘x»'o
vheRe X = [Xu v xy
)(v'\l Xm.“‘ x\p
P
P
The edor of il i« ]3 -
nd fhe Rig}\’r/l'wd's)‘de Vahk/ Called e
51
ﬂBJPmLe (,o\v\v»\\,. /owﬂow\e weLio L ) ) 3 _ &?:.
i |

So, A 5Y$iem, 07(‘ )inecte Cohab'ons ke

;(H‘-P) -: XI'L‘/Bz + ng X’P,/BP = 9’
2\" /3) X'Z'L'p). + cug %ZP ‘/3/ - yz
Xh\" pJ + 7(6\2'/3}— + e XV‘P '/bp - vP



Can  be  (wilkem h MmaliR-vechr 74;?.“,\ as
R I ARy

/

Xt’ R TR A
3 A
\Kv\) Xh?z ‘o X\r\f 3 § ﬁf) 9’”"

) e~ ——
otk Vel DR
\ >,
N
MOy -yeifo mu thph cation

ok iy he  wRkilgn  moRe Conisely gg

Xp=Y.
>< B/ W}Y)X/ X)'J. [f—)-)Q, nwhber in X

5 atr Row | and oo/un,,,J
1S o
/ a WN{L/ /9" ¥ e Nupybey, /@

‘ afr~ Low |
J o n vetle oo, |



0Llen hme in STubsALs, X 5 o makiy
of- Enown huw\bm%) Y A vehe of
Kaowe Numbts, and 5 ) 0 e o
Y nnivw) nmb@ﬂﬁ.,

OFfh We ke fo  7ihd /i which

sitshe  fle eposton ng = Y
/

V‘SA’\‘YJ’\ s qowm ™Y Rewll g lineaR
‘/540\1\\ DF‘ %"M'l?}’NS,
So\\ling A SY5em mﬁ Lineac EWb’ov\g

S

e g adpik- U, Ty uahon

o W}\e,,\ s O vnaleg—vey foy ?,[whﬁow JV[V“H/BZ
® Tf 50, how fo solve 2 7

Rewll a £/‘m//e § i gnde alopbry Egpbon
I xX= 9.

To sty You muliphed bof sils by
1 / et 7 3
3, or e Mu (hpl cotie  jnelSe o >,




Xz 24 ’
Now if we have  putic—vesn  eqpuion
Xp =
whefe X/s (S Known y mo( WF/H ke v
S 2 e ko B WA,

i would é‘@f/w— i~ we ool
sinfly inent” X

><~[/ X/} = )(‘fj
Ip - %}
P Xy

L i the mu hplrabie  idendty ynd/L/’/‘X/
S0 j:'/@:/@ nd )Q.Isf; Aarell B,
Similor T Jow i REMW " alephpg )ix=Xl=X.



L = /pio ® _ all A5 o A gl

PP ool all 05w vl oo
c )

hecue

Tp- | ] [ipcop—~op
lo ¢l < |0 (€0 ﬁbf“'*'o&{

- ?2
o Lan we do phis X K=L *
o What does i+ oven man T
mulbply mater e XX 2¢



Matlc— Vestor - Mu [hpliapo,
Reat § Aot A o+ o Kip Jop -
P8 Koo ety
Xn\" }3’ * 7(“7—'/3" R XMP ’/51’

;; e%,’m\gl\\’ +D JX)) X X‘f? /9/
BT Ny |

o ’
¢ f

\KV\) Xm/ co X»\f\\ ‘ﬁP

W\O‘MQIX—V@HVQ mu Wp)fcmﬁ%

Hf WM/”/Q)
2 3] ']+ 2233 Y
qQ / 20 = (29« L+13 | =[]Y
I I ! BRYR I 6

Matrix  Mulfphiaton 5 ke mulfiple
IMAMK =S mulgiranins, o oxample

2 3
G- [ )
oo JLe ¢ 7



naxfPs  Paxfs nAxFB
oy s g if fyn,
an/ Mﬁ#h :X{;{g - fj

X'Xp = X~
axb hep /;xt j
So e need b=n,
Mt )r{(g Zx:2/wem4, Bﬁ':om
373 h2 32> 1y=l1 =2 x-2
Bat 327 =34=1 o,

axb hx|

o0 34‘43 oA (e inme wd LON fnenge

SD/ we glo wan T ><><~' S0 M'&V(QZJ 0"']00

e Gxb



~
Pur foo XX = XX e pa h=p
n‘ﬂf f"'V‘ P,Cv‘ “ /
e—
n¥*n P/

Jo, ‘7”V9/2¢)})lx/ mamites qfRe X@mﬂke‘ /9x/°
Hp- pr/ if X: ; g]} Xpézgl/o]
boe XX~ [43)[15) - [ <)

|+20 o'oﬂ"‘v
- [
(s 7)=1
X = [
awh XXz [5e) (1) . T

Thel? age Good @ lpedhms

NGRS o GoNeRal  sgpate i LF o
P%‘b,ﬁ ‘7% pla ;7’ v

L peler o ® j?oj/a/ o8 math 2400, o (o pote,

fop now,  dssime You cu invert  (many) Syne
matriieS  wih gy,

| HU lease how o fmert- o mavix, onie |




Offon  timer SRS, we hae
MUK ~ VeotoR equaions

X P=9

hsf P4 wx

where p4p, lualy, y>>p i sports.

Somepmes P20,

Uswally - nunfon of dars eWW
fir eample, n= #game gy

P> # feams

17 wate popesiv doed  pouee Vb,

50/ We Camr Chverd X Sinee X 7S ot %@ﬂ@—

fratnajely we Cn we o TRTUC W wake
a dypafe  mutrr  RpPERL,  awd fen we
Can ol .‘



The 7‘2491,%&7& I mafriX X WYTHER X
S'/N\O)y T ol {Wﬁhwg e ,qud el Zo/wwm

{:rexmp\b )
- T /) 35
X?[w\ :éx“/zqe?]

56

e duagpe of Ay M”‘e’{bf/xu'

2
XX = (! [
wh ML a2
[[€33¢5:S (-2t >Y 54
“ [yl €3¢S Ve Y14
) [35 L/L/]
iy 56

-
Jo - ] ‘
>§xlz( J f%«aﬂe and f}/ mme TRic

A sper wiie A o A= Ase




Beamse XX 5 sypte and 3y muerti,
prp
Yy Cu,smllj) gasy To inens /7 ' amd So

@ Lommgn Srufpa| W}S:}v\ Jo/w"g /)/Ma/ /a,gﬁbe



Xp=Y
X X p X 4
(X0 (X X) B = (X SQfX;
/3 = é< er,X}.

o But SHI, how P fniept a SGpake
[ and, }}/Vh’h@fn&> matlx 22.

75 b-@ CﬂnﬁnMeAu.



What & meins v do Resampdn

Resettdn  is o sehies of inpRemental inp Polements
in O\nsvveﬁ.'»ﬂ o q;mas%‘ow\

@Ask & ouestion
— Whats Somethig T vamd- fo Yot
— Read (09, neil Paine, bloa)s ) Tuier, J&AS)

@1’; Foa gud peeards  guestn o me %VAW]?‘

— vight ool o difGenth
— wold T poeataly b oble T uer iF
— b it bem dove befoe’
— js & Oantitoke?
— il anyone cape!
— Wi\ T o’
—do T e the pasen fooput ia
the hime wmminey Ty D aveer 4]

@ Litoruture  Review

— Whats  |eom o[o»\er).

— Relted  whpl

— Bah wp o plelegmisies
— Find Jour studing oink



® fon English Fo Y\Aa*r\n/coo\e//l’}udeliy

9. Thet in Eng).'s\\‘. Jame-by-game i alod
eflawen; foc  Siodking pithels
MAh s gwe P with the  foPmiloy
Code - implmvw\\r forwley  wih dat



